

## Government Degree College, Khairatabad, Hyderabad

Re-Accredited by NAAC with B+ grade

ISO certified college: ISO 9001: 2015

Academic year 2022-23

# Infra-structure facilities for sports and cultural activities

#### Government Degree College, Khairatabad

### **Sports Infra structure**

The institution has well equipped and established physical education facilities for gymnasium, yoga, indoor, out door, sports and cultural activities.

- The college currently has three rooms for the physical education department, and one of the two rooms is used as a gymnasium.
- Sufficient play area supports many different games.
- Volleyball courts, Kabaddi and Kho Kho facilities are available to host games.
- The institute also has a large indoor gym for students and teachers.
- The college has indoor facilities for playing table tennis, carom and chess.
- Yoga sessions are carried out occasionally by physical director.
- The institute has appointed a full-time qualified sports staff (01) to train and guide the students in various sports.
- Institute teams participated in various national and nationwide sports competitions.
- Students have achieved and demonstrated their excellence in various inter- and intrainstitutional, university and national competitions.
- An open auditorium is available to organize cultural programs like dance, song and
  Telangana cultural festivals like batukamma, moharram etc.

## **Sports Infra structure details**

Government Degree College, Khairatabad									
Physical education department									
S. No	Department	Length	Width (ft)	Sqaure feet	Area (m²)				
1	Physical eduation room	20 fts	10fts	200	18.58				
2	Gymanasium	20 fts	18fts	360	33.44				
3	Yoga hall	28 mts	26 mts	728	67.63				
	Gymanasium	20	10	200	18.58				
			Total Area	1488	138.2				

Government Degree College, Khairatabad									
Physical education department									
S. No	Department	Length	Width (ft)	Area (m²)	Sqaure feet				
1	Volley ball	24	12	288	3100				
2	Hand ball	18	9	162	1744				
3	Tennikoit	18	9	162	1744				
4	Badminton	13.4	6.1	81.74	879.8				
5	Badminton	13.4	6.1	81.74	879.8				
6	Kabaddi	16	13	208	2239				
7	Kabaddi	28	13	364	3918				
				1347.48	14503				

Gym and Sports facility









**Gym Facility** 







**Sports Facilities** 

## **Cultural programmes facility**



NCC day celebration at open auditorium